2MS - test - corrigé 12 septembre 2024

Puissances et racines

Exercice 1.

2 7 _2 18 5 s
a) a® 5 =as5 =|Va' =ad®-Va b5 =bs = | Vb8 =03 Vb3
3 11 5,7 17 6 6
b) bits =bs = | Vbl =b- Vb3 azte = a6 = |Val" =a® Vad
2 3 1 1
12 3 1 3571 =312 =
=-3 _r—% 12
¢) 5E 8 —5% = = 3
53
Exercice 2.
11 3 1 1_1 _1 1
a) a5 2 =a 10 =|—; ai": =aq 1 =|—
a1o a4
9 2 1 15 5.3 9
b) b2=4"5 = |b1o b2 6-5 = |pio
11 1 1 _ 1 1
C) C5 6 = |(C30 Cc10 12 = | C60
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Exercice 3.

a) 2 =25 = x=252=625]

23 =27 = 2 =273 =[19683

b) 2 =125 = = +/125=]5]

=16 = xz:l:\4/1_62

c) 22 —2r=0 = =x(z—2)=0

=S ={0;2}

Isc - Burier

2 —-3r=0 =

=

S ={0;3}

z(zr—3)=0
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